
      ����� ����وة            ر.ع. ب2: ا�����ى 

�� ا�� ا���������                                              ��  2009/2010: "�&�                                                2%$ض  "! �� ر

  ا"!����ت                               ا�0ورة ا/و�.                                            ا���دة : ا�$��,��ت      

 

    ( ) 2 1h x x x= + − - �  ��� C 

 ( ) 1
0; tan tan

2
x Arc x Arc

x

π ∀ + = 
 

≻ : 	�� أن )1     

      ( ) ( )( )tanx Arc h xΦ =    2(    ����  

 [ [( ) ( ) ( )1; ;
2

x x x
π ∀ ∈ +∞ Φ − Φ − = 

 
:    	�� أن - أ      

 ( )lim
x

x
→+∞

Φ :     أ
�� -ب     

   . ( ) [ [1;/fC +∞    ��  ( ) ] ]; 1/fC −∞ −   آ�� ������  -ج   

، ��ذا ������ ؟  
( ) ( )

1

1
lim

1x

x

x+→

Φ − Φ
−

  أ
�� -أ) 3  

         ( ) ( )1t x= Φ − Φ )           ��:   ����  و  

      .(  ( ) ( )
( )2

2 tan
sin 2

1 tan

α
α

α
=

+
:                  و ا#�"��ل    

 
( )

( ) ( )
1

1
lim

1x

x

x−→ −

Φ − Φ −
+

  ا#����        -ب     

( )( )1; 1A Φ ) '& ا��%$���  )fC 
,د ا����#�� �*��(�) - ج     

          .  ( )( )1; 1B − Φ −             و   

  .     ( )CΦ Φ 01 أ/.-     أدرس �3�4ات )4 

    [ [1;/ψ +∞= Φ  5(    ����  

   .    ( )1C −Ψ
ψ �%�	7 ، 01 أ/.-       	�� أن  

:1 ��$�8 
( ) ( )'; f x f xλ λ∈ =ℝ  8�)	 ℝ دا�= <�	*= �>;�%�ق 9*)   f  ���� 

:    ، و أن  ℝ  (*9 p f <�	*= �>;�%�ق إ�) ا��3?=   	�� أن 

            ( ) ( )
( )

( )
1

2

p p
p pf x f xλ λ

−

=                   

            

:2 ��$�8 
 . [ ];a b f دا�= <�	*= �>;�%�ق �A� (*9ل    ���� 

       1 2 3a x x x b≤ ≤≺ ≺  B%)� =�%�%
:      أ9,اد  3x 2x و  و  1x  

:     	�� أن  { } ( )1;2;3 ; 0ii f x∀ ∈ =         و   

] [ ] [ ( ) ( )( )( ) ( )'''

1 2 3; ; ; /
3!

f x
x a b c a b f x x x x x x x∀ ∈ ∃ ∈ = − − −

  
 

:3 ��$�8 
 &*� ��	    : +

ℝ g ا��"3'= 9*)   /"�?3 ا�,ا�= ا�",د�= 

  ( ) ( )3 3sing x x x= −                         

: 	�� أن ) 1  

   ( )
( )3

* 3 3

23

1 cos1
; 0; / sin

3

t

t

t

c
t c t t t t

c

+
 −
  ∀ ∈ ∃ ∈ − =   
 

ℝ       

( )
30

sin
lim
t

t t

t+→

−
:      ا#���� 
��ب ا����E= ا�����= ) 2  

 

:��9�" 
    2 1 0x x+ − = :     ا��"�د�=  ℝ -1( &' 7
 A 

               2 1 2x x x+ − = ]  :               ا��"�د�=   [1;+∞    2(&' 7
  

              ( ) 2 1f x x x= + − - ����        :            B 

f  .   اG;�%�ق  
,د ا��H�Aت ا��& �%?�E�' 7 ا�,ا�=) 1    
.   9*) هIJ ا��H�Aت  f   ادرس �3�4ات )2  

.  ( )fC ) 01 أ/.-   )fC   ادرس ا�3Oوع ا��L�E/M= ل )3  

7	�%�  .   g ] ، 	�� أن  [1;/g f +∞=   4(   ����  

     .   ( )1g
C − ) 01 أ/.-    )1g x−  =4�P د,
     

 




